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Dalry Cattle Produetion 402114
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v« Choose ONE best answer:
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I. Bacteria provide a very Mgh-qmm) Lype of this macrommclent for the ruminant host:

(a) Vitamin 2 ® Protein (c) Water Y i

wwee 20N yield bs primarily determined by ponent
" Y the synthesis of this milk
(a) Fmt (b) Uren (0] ottn:o (d').P?fni:m

=~ 3. The primary difference between ruminants and monogastric animals reganding
wbohydrate digestion is:

A Both extensively utilize pre-gastric fermentation
11) Both extensively utilize post-gastric fermentation
) Monogastrics have more pancreatic amy lase and more glucose shsorption i the s

intestine.
D) Bichydrogenation

‘4, Feeding ruminants a high concemrate diel can sometimes cause rumen acidosis.

e —

{a) True
(b) False

5. Which of the following is NOT a ﬁmdion of saliva in ruminans?
A) Provides 70% of water in the rumen, (—
@ Source of salivary amylase.
C) Lubrication .~
1) Bicarbonate for buffering of rumen fluid, v~

6. The sbomasum and omasum both synthesize and seeret HC\,

(a) True
(b) False
', What is the primary structure for prehension in dairy cows?
(a) Teeth (b) Lips @ Tongue  (d) Beak

¢, When & ruminant is unable 1o eructate, this can oceur

(a) Acidosis (b) Shingles (c) Bloat ‘ () Laminitis
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() Bihydrs rersna
isn mx“m by which microbey ol the bguicity of . u. :

Pﬂl‘ﬂ! by which ghcose Is : ’
0 Glucomgcn“h @s":;"'::"nd into pyruvate is callnd;

{c) Onidstion m ;;, ’*wmnm

Shads ;
: M (m:mgc amount of gases that eructated by a dsl iy cow is estimated as 040 L)

y\ \2 o’ : l 3 ln ruminant animals, bactetia account for  60-90%% of total microbisl rmas in ramen
® True
(b)!False

G

eeeaia o1 What is the compartment of ruminant digestive tract that collests hardwsrs snd ks &
honcycomb like appearance?

£ (n) Ommum (b) Rumen @© Retlculum () Avamatun
...GLIS The m&‘ of pitrogen in urca is
a) 54% {b) 16% © 3% @45%

Which of the following is not one of the immunoglohuliny found jn colestrum?
(&) ‘ (h) IgM @PIC igA

calving for the lhlrd time will produce colostrum that :onumw\n;her pertsntage
a cow calving for the first time.

- @Tre

(b) hlse

b ! 8 Colostrum is g.rcalcr in laclosc and fat content than v.hole m\lk
(@) True ;
@False :

.19, Which of lhc rollomng immunoglobulms is the most pwvnlml in coicstmm and helps
vide protection against invading pathogens in newbom calves?
(@ lga  (b)IgM @IgG © () 1gE




"\' 23, 'i'h\: symputhetic system controls the body during stress, while parasympathetic system

£\..20. Colostromet
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(b) False

-d..z I ‘T his hormone s sevieted | ‘ :
Wbr'hmmmmwnwmmmmmme

Ml dﬂﬂo“mf"",ﬂw Matistation, wid 8 surge of this hermone igpers cvatets 7
(a) FSl) (b) Estrogen 10 Pro Lodde @ ;;ﬁ: i Enpas!

C
sresizee= 22, This hormone s stored in the posterior pi ; ' il
l'm: water balance in the body? posterior piluitary and released from these i fenpeisiln
@ FSH- {b) Oxytocin @ADH  (d) Eatroges : :
--h---. 23. This hormone Is secreted from the Gvary and placents and respansibils far refisiog ihe
pelvic bones and cervix during panurition,
(a) Inhibin Relanin {¢)1LH () Progemierons
--b‘»ﬂ. The nervous system controls the presesses which require more 1
systemn controls the mpid adjustments 1o changes in the environmen.

(a) True
False

me, whils the esdociine

contruls the bady during rést.

@ Trve
- (b) False
<=\ 26. One of the following glands is an example of exocrine glands.
@@ Sweat  (b) Hypothalamus (€)Ovary (& Testes

res 27, Which of the following hormones s responsible for development of the duct sysom in
the mammary gland? 5!
() Wvg‘ f3ctin (B) Estrogen (©LH () Progesterone

eenvenses 28, 'ﬂlc pdmur) sign of heat in dairy cows is. s
(b) Increase rectal temperature (€} cows stand 1o be mounted (d} Red

(o) hyperactivity
29, In dairy cows. ovulation oecurs 10:14 h {sround 12 b after the end'n:l‘ estrus,
@ True :
(b) Fales :
0. 30. In artificial insemination, the inscminnlbr deposits the semen in the vagina of the fem
reproductive tract.
(a) True

(B False
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Question 6. Explain in detafl how does the process of milk lcmowu stan?
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